The result of the vector - valued varian is inside
general in two drays: (i) Assemption is worken the FD&(B)
general in two drays: (ii) Covers vector Valued functions:

$$\frac{f \in L_{inc}'(R)}{(R)}, \quad Such that$$

$$\frac{f \in L_{inc}'(R)}{f}, \quad Such that$$

$$\frac{f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad yt \neq C K.$$

$$\frac{g \notin C_{c}}{R}, \quad f \in C_{c}^{\infty}(R, \mathbb{R}^{n}), \quad f \in C_{c}^{\infty}$$

 $g = g_1 + g_2$ $|g_1| \leq f_1$ On the other hand, Uso, J gi (Tigis) + & > Alfi) 19:15 f: $g = 3, \pm 5, \qquad Satisfies \qquad T(g) = T(y) + T(y)$ \Rightarrow $|\Im| \leq |\Im_1| + |\Im_2| \leq \exists_1 + \exists_2 \implies$ $\left| \left[T(g) \right] = \left[T(g_{i}) \right] + \left[T(g_{i}) \right] \left[= T(g_{i}) + T(g_{i}) \right] \\ b_{g} \notin F^{lipping} \quad S_{i} \rightarrow -P_{i} \text{ if needed} \right]$ $\geq \lambda(f_1) + \lambda(f_2) - \varepsilon$ Hence $\lambda(f) \ge \lambda(f_1) + \lambda(f_2)$. For (b), the proof is similar to that in FD ((10) on page 214) But if we use FD Thun 7.2, it is easy to show $\chi(f) = \int f d\tilde{n} \quad fr \tilde{n} - Radon measure$ defined by $\tilde{\mu}(U) := \sup \{ \lambda_{i} \} \cup \leq j \leq 1. \ spt \leq CO \}$ with f satisfying Claim: $\widetilde{\mu}(U) = \mu(U)$ ∀f in û- definition consider, g 191≤f S \Rightarrow such $\mathcal{J} \in \mathcal{C}(\mathcal{I}, \mathbb{R}^m)$ spt $\mathcal{J} \subset \mathcal{U} \& 0 \le |\mathcal{J}| \le |\mathcal{I}|$ |T(g)| ≤ u(U) by u-definition Hence $\lambda(f) \leq \mu(U)$ if f is in $\tilde{\mu} - definition$ \Rightarrow

Du the other hand,
$$\forall g \text{ in } \mathcal{U} - definition$$

Let $f = [\Im] \implies f \text{ satisfin } \widetilde{\mathcal{U}} - definition$
 $T(\Im) \leq \lambda(f) \leq \widetilde{\mathcal{U}}(\mathcal{U}) \implies \mathcal{U}(\mathcal{U}) \leq \widetilde{\mathcal{U}}(\mathcal{U}).$

(2) Construction of G.

$$\forall e \in \mathbb{R}^{n}$$
 $|e|=1$. $T_{e}(f) = T(fe)$. $\forall f \in C_{c}(\mathbb{R},\mathbb{R})$
 $\left| T_{e}(f) \right| \leq |T(fe)| \leq \lambda(|f|) = \int ifi dn$
 $\sup_{g = g \in will be one} \int ifi dn$
 $\sup_{g = g \in will be one} \int ifi dn$
Hence $T_{e}(f)$ is a bounded linear function of $L'(dn)$
 $B_{g}^{T} duality theorem: $T_{e}(f) = \int \frac{g}{g} \cdot \frac{g}{e} dn$
for some $\delta_{e} \in L^{\infty}(\mathcal{R}, dn)$.
Applying to e_{i} in e_{i} standard basis of $\mathbb{R}^{n} \Rightarrow$
 $\exists G_{i}$ in G_{n}
 $\& T_{e_{i}}(f) = T(fe_{i})$
Hence for $g = \sum_{i=1}^{n} g_{e_{i}}^{i} \Rightarrow$
 $T(g) = \sum_{i=1}^{n} T_{e_{i}}(g^{i}) = \int_{i=1}^{n} \sum_{i=1}^{n} G_{i} dn$
Now we show $|G| = 1$, as $e = from a$.
It suffices to show $\forall \cup - \sigma pn$$

$$\begin{split} \int_{U} |\sigma| \, dn &= \mu(U) \qquad (\texttt{K}) \\ & \text{We we have have for a first one of the state of the st$$

$$\int_{U} (f, q) = \int_{U} f \ge 0$$

$$\int_{U} (f, q) = m(U) - \int_{E} f \le m(U) - n(E) - \frac{1}{n} n(E)$$

$$\int_{E} f \ge m(U) - \int_{U} f = m(U) - \int_{E} f \ge m(U) - n(E) - \frac{1}{n} n(E)$$

$$\int_{E} f \ge (1 + \frac{1}{n}) n(E)$$

$$\int_{E} f \ge (1 + \frac{1}{n}) n(E)$$

$$\int_{U} f = \{ \frac{101}{5} \le 1 - \frac{1}{5} \}$$

$$has positive measure$$

$$\int_{U} (f - q) = \int_{U} f \le C n(U \in E)$$

$$\int_{U} (f - q) = \int_{U} f \le m(U) - n(E)(1 + \frac{1}{n})$$

$$= \frac{1}{n} n(E) \le (1 + C) m(U \mid E), \quad fw \in C < C$$

$$= \frac{1}{n} n(E) \le (1 + C) m(U \mid E), \quad fw \in C < C$$

$$= \frac{1}{n} n(E) \le (1 + C) m(U \mid E), \quad fw \in C < C$$

$$= \frac{1}{n} n(E) \le (1 + C) m(U \mid E), \quad fw \in C < C$$